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Remember to show all work including formula, answer, and units.
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Suppose the Big Bad Wolf goes to the store to buy some bacon. The door at the entrance of the store says, “PULL”, but The Wolf huffs and he puffs to blow the door down. The door, of course, does not move. Did The Big Bad Wolf do any work? Why or Why not? Did he use any energy? 

The Wolf did NOT do any work because the door did not move. In order to do work, the exerted force has to move an object.

The Wolf  DID use energy because he pushed on the door.

Sylvester the Cat wants to get to Tweety Bird’s cage that is hanging from the ceiling. He has to push a chair 10 ft to get it under Tweety’s cage and Sylvester has to use a force of 30 Newtons to move the chair. How much work is done to move the chair to the correct spot? 

1ft = 0.3048 meters

(10 ft) x (0.3048m / 1ft) = 3.048m

W = F x D

W = (30 N) x (3.048m)

W = 91.44 Joules

If it took Sylvester 6 seconds to push the chair under the cage, what was the power involved in moving the chair? 

P = W / t

P = (91.44J) / (6s)

P = 15.24 Watts

What size light bulb uses almost the same amount of power?

15 watt fluorescent / incandescent light bulb
